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ACQ}S‘E Coaching for %tﬁemaﬂcs and Sc‘lence
' - MATHEMATICS '
- (With Ansivers) SA -2 SAMPLE APER

CBSE SOLVED

CLASS X

General Instructions !
(). All questions are cannlsory. . Lo
(if) The question paper coisists of 34 questions divided into fonr sections A B, C ane . Section A~ . -
camnprises af 10 gnestims of I mark each, Seciion B camprises of 8 qm{%}" 2 marks eaeh,. - :
Sectkm C c.:rmpr;sc.s af !’ } qnes:mm of 3 marks each and Section D cowgpriseof 6 questions of -
4 marks each I - - - N T
(iif} Qnestion HH!H{JL’F-S f 0! 0 4 S{’c tion A are mnfup!c chmw GHESTIONS
carrect aptien ont of the gncnfom‘. : St R
(v} There Is no averall choice. However, hiernal chaice has/f xavided in 1 gnestion af two - _ " L
< marks, Iquestions of three micrks eaclt and 2 guestions af % s each. Yon have o attempt
only one of the alternatives inall snch gnestions. P
(¥} Use of calenlalors is not permiied,

Here you are to select one™ -

Sectmn SAL 8

Question mnbers 1 to } 0 dre of ane nan{ each _
1. Whichtermofan AP 12, - |, =400 L R
(@) 15th T e

(¢) 25th (d) 30th :
2. The radii of two circles are 9'¢ém ang 12 6. The radius of a circle whose urea is u;ual to lhe g
sum of the urcus of the two Llrclcs is -
ey isem o T (BY 1d em
(¢) 13cm IR Cdy 12 e

3. I 2k— 1,7, 3k are threesdngecutive terms of an AP, then & is cqual
(a) 4 _ - . (0 3 _

4, Thc \«11m, of k for \m' equation x; _"+ T(k+ 1)1 + 0 has equal roots is - L
i : (b) - ! : N
oo '13_'1:

(b) — '111

(Y im-':



trainer
Rectangle


(¢} = 'md - AR RIS (‘.["'.- 5 ;nd_— E
6. It the area of two circles are in Ihc ratio 9 25, then the ratic; between their circumferences is
{a) 3:5 o (b 5:3
(¢} 4:5 o {d) 504

- 7+ Acard is drawn from a pa(,k of cards nurnbcrt.d 110 52. The promhtlny that the w the
'card isa prum nnmber less than 30 s : S

{a&y = _ o {h :)-g o
(“) e . {a'J [3

8 If A(i ’3') B(J 3} and C(() 6) arg lhc Ihru. vertices of a
-coordinates of the fourth vertex are . - . -~ .

(a} 3. 5} (b) ( 4)

- ‘). In !ILurc :\T:sa mngult o Ihl.. circle wnh Lcmn, O su =4 cm and ZOTA =30° Then

ATI‘\ wual to - NS

lélogfatn {BCD then the

(a} 4cm o o o (&) 2em
(c) 7J§ cm \d; 4 fr?: cm. _ o i
10. The tops of two poles of height 16 m and 11} m are Lonnt.ctcd b\ a wire. If thc wire ma!\e san
angle of 30 with the horizontal, then the lcnglh of the. wire 5 : -
{¢) 26 m g by 10m -
(€) 12m () 16 m

marks each.
:.1+(a —b y=0
lickcls numbered 11

Question nuntbers T
11. Solve for:
12, 13 .

3{} A ticket is lakcn out . frorn tht. b.m at_'

..... or
Forwhat/ value of *p the pomts A(l ‘3} B(p 1} and C(4, 11) are collinear.




i4. PORS is u dinmeter of a cirele of radius 6 cm. The fengths PO, QR and RS dn;___tz(_!_u:].i..__ .
Semicireles are drawn on PQ ‘md S as dmmulus as shown in the figure. Find the pt.nmcu_r ()f []]L-. -
shaded region,: Do _ L

BC =7cm, and CD =35 em, Find AD.

15, Inthe figure, a ¢irele touches all the four sides of a quzidri[ulcrui ABCD%Q esAB =8¢, :

the changc in ]cvc] of waterinthe jar 7 - - _ PRI TR ST
-+ 18, The curved surface area of a right, lar cone is 12320 em®. If the radius of its base is'56 ¢ny-. -
find its hcight. A

Ouiestion numbers {9 o 8 r_ﬂn) 3 man(? eacl. I
19, A hemispherical bowl diameter 30 cm contains some llqum] Thlf; hqmd is'10 he
filled into cylindrical shaped bott[t,s of digmeter 5 cm and height 6 em. Find the numbeér of bottles
necessary to empty the bowh - S
20. A wooden article was idge by scooping out a hemisphere from cach end of a solid cylinder: 1
the height of the cylinderds. 20 ¢ and radius of the base'is 3.5 em. Find the iotal surface area of the -
article. : o

N



s 1.. . . - . ) . .. . . . ) . - : ) )
“ The area ol an equilateral triungle is 17320.5 em”. With cach vertex s centre, a cirele is described
with radius equal to haif the length of the side of the triangle. Find the arex ol the shaded region,

(Use © = 3.14 and +/3 = 1.73205]

21. Find three numbers in A.P. whose sum is 15 and the prodiret is - _
22. There are three consecutive integers snch that the squarc irst increased by the product of
the other two gives 154. What are the integers 7
Or
The sum of ages of u father and his son :5 45 yeurs. Ei
years) was 124, Determine their present ages. -
23, Five cards - the ten, jack, queen, King and wce of dia
downw.lrds One card is then picked up at random.
-+ (i} What is the probability that the card i$ the R : e
(i} 1 the queen is drawn and: put aside. what i V obablhly lh.ll IhL sccond card pu.!\cd up is
{a)} an ace ? aqueen 7 s
.24 In'two coneentrie cireles, prove th chords of the outer urc]c whlch Immh II‘IL mncr are of
cqnzll- tength. :

e years ago, the product of their ages (in

ds. are well-shuffled with their face

Or. . .
In figure, tangent segments PS and PT are dmwn to a cm.h. with eentre O such that ZSPF = I”O“
Prow. llut op = ’?PS : .




- 26, PQis achord of length 16 em Ofd eirele ol radins 10 cm. The tangents at P and ¢ § mluru(:lq al
a pom{ T (see ﬁ"un;,} Fmdﬂu. lt.ns.lh of P,

sueh t]1z’ji"f5 19 I

_nearer 1o A, 1f point P also lies on the line 8x - Sy + & = 0, find the value of & w
28. An aeroplane ﬂy:mz horizontally «t o height of 1500 11 ahove the grondd is ochr\cd ata.

eertain point on earth to subtend an angle of 60°. After 15 seeonds. its an elevation is obt:z,rw,d Ic)'“ =
be 30°. Caleulate the speed of the aeroplane in kiv/h.:- .

g 'Thb‘ ling joining the points (11, ~ 7Y and (2. 11) is trisscted at the pmnt% 9

Question manbers 29 1o 34 carry & marks each. N
29, A vertical pedestal stands on the ground and is su;

3 m. Ata point on the ground the angles of elevation of i

and 607 respectively. Find the height of the pedestal.

30. Water is flowing at the rate of 7 metres pee second through a cireular pipe whosc mlcm'l]:.

diameteris 2 cm into a z,y]mdnca] lank the radius of w]m ase is 40 em, Determine the i mcrcz;sc in'the -
water level in 1/2 hour. a SR

ountéd by a vertical Nag slaﬁ' ol ]1uz.hl:'_" 3
attoim and the top of the flag 5[4[] are 3{)° RE

! .  Or TR R
A container made up of a metal sheet i ip'the form of 4 frusturiy of a cone of height 16 cny'with radii

of its lower and upper ends are 8 em and 20 efn tespeetively. Find the cost of milk which will z,omp]clciv'_'i

fill the: z,onl'unz,r at the.rate of 15 per bitre and the cosl of the metal sheet nsed. if it costs i‘ 5pe

100 em®. [Use 7 = 3. 14
31. ABCD is a reetangle formed byjmnmn the points A(~ 1, ~ 1) B(- 1, ), C(5, 4y and D3, 1)

P, @, Rand § are the mid pw BC.CD and D4 rc‘;pecmc]y Is the qmdn]atcm] PQRS al
£ o

square, 4 rectangle or a rhombus ? O ANSWET.

32, In figure, the comm tangentyAR and CDto I\m ctrc]cs wuh centres O 'll'ld O' inlcnccl at E.
Prove that the points O, E, 0" are sollinear. - T

ec. a buckz,l 1s placed 1[ thc ‘;Iartmg point, which is § m Irom the ]"rsl potato‘ and
s are placed 3 m apart in a straight line. There are ten potatoes in the line (see figure). A
from the bucket, picks tp the ncdrcsl pot‘sto‘ rum baek wnh it drops ll in lhc bm,kt.l .



fnins back to piek up the next potato, runs to the bucket to drop it in the bueket, and she continues in the
same way until alt the potatoes are in the bucket. What is the total distance the competitor has to run ?

A,

Sm 3m 3m
34. In a flight of 6000 km an aircraft was slowed down dite to bad weather. Its average 3 for
the trip was reduced by 400 km/hour and time imereased by 30 minutes. Find the original duration of
flight..

~ Atin travels a distance of 480 I\m dl a imiform speed: If the speed hdd o' 8 knt/h less than it
'_wou]d h:wc '% houn morc 10 cow:r lht.. Sdmt. dm'm(.c Fmd Ihc spwd of the train. o

1. {c) . 2. (a)
B A DO . S (:) SRS S

0 @ B .

1I. x= 3 orxE 3 12, (i} % (u}_ g ]
- 14, Perimeter = %_'cm___ 15 AD=
o 17. Change in tevel of water in. the jar = % SRR €. Hcight.'(.}t” Ihc t.nn:_::42 un

T T S ... Section ‘C" ST
- 19, Number of bottles = 60 ... 20. Tot'it qurﬂtcc area 0] Iht.. .1rlu,!c = 594 cm Or ]670 5 un

| .21.' .Th:: rmbers are : 2 2,5, ISW. 2 . _
- 22, Three conseculive integers areng 9, 10 e
Or Present age ofri‘%% years, Prcscnl 'u,e of son = 9 yc'm

23. G) 31; iy (ay L.,

26, TP= - 27 kw—69

28. Speedof the rop!ancw4]5 68 [\mfh _ .
Seellon ‘D' S E
20 \ghtof'thcpndcc;la]?‘?S mo B
3'{)'._'_" 1875 m . Or Cost of the milk = % 156, 75 Cost’ of Ihc mLId] uscd 2’ 99 97 (dpprosc } .

31, PORSAS a thomhus "33 370 metres T
34, “Original duration of flight = 2%hours Or 40 km/h




